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#i ncl ude <stdi o. h>
#include <linmts. h>

int main() {
int K
int M N,
int best i;
scanf (" %l", &K)
scanf ("%l %", &M &N)

if(M==20) {
printf("0 %", K);
} else {

int mnDays = | NT_MAX;

int i;
for(i =1; i <= K, +
int |argeDays
int A= 6%i;
if(A>0) {
| ar geDays

}
int small Days

int B= 10*(K -

if(B > 0) {
smal | Days

} else if(B ==20
smal | Days =

i nt days;
i f(largeDays >=
days = large
} else {
days = small

i f(days < m nDay
m nDays = da
best i =1i;

printf ("%l %", best

return 0O;
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| NT_MAX;

smal | Days) {
Days;

Days;
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i, K- best_i);
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